Data compilation

The design weight of the household Wi is corrected for non-response using Pi, the estimated response probability of the household within each stratum (i=1 to 9 strata).  Then, the corrected design weight of the household W'i is adjusted for all persons in household (Dij , in stratum i and household j) and finally it is calibrated using age and gender to end up with the Final Weight of the Respondent, Rit (in stratum i, respondent t).
 
Steps followed:
 
A. Design Weight
 
The Design Weight of the household is the inverse of its inclusion probability.
 
       πi= the probability of the household to be selected from stratum i
 
       ni= the sample size of stratum i
 
       Ni= the total number of households in the sampling frame of stratum i   
 
              Wi=1/ πi =1/ni/ Ni = Ni/ni  , i=1.....9
 
B. Correction of the Design Weight Wi for Non-Response
 
The Design Weight of the household Wi was corrected for Non-Response by multiplying it with the inverse of the Response Rate. The Response Rate Pi, was calculated by dividing the eligible sample of households that responded to the survey by the total number of eligible households in the sample.
 
(The Response Rate within each stratum provides an estimate of the response probability for all the households of the stratum.)
 
ri=Eligible responds of households to the survey within stratum i
 
ei=Eligible households in the sample within stratum i
 
Pi=the estimated response probability of the household within stratum i
 
Pi=ri/ei   , i=1....9
 
Thus, the Weight of a household after correction for non-response is:            
 
            W'i = Wi x 1/Pi, i=1....9
 
C. Design weight of the respondent, adjusted for all persons in household
 
The design weight of the respondent is calculated by multiplying the corrected Design Weight of the household with the number of persons aged 25-64 within each selected household.
 
Mj=Total number of persons in the ages 25-64 in the household j
 
W'ij= Weight of the jth household in the ith stratum (=W'i for all households j in stratum i)  
 
The design weight of the respondent is:  Dij= W'ij x Mj, i=1...9                                           
 
D. Calibration procedure
 
The Final Respondent Weight was calculated by calibrating the Design Weight of the respondent. This was done in order to improve the accuracy of the estimated respondent weights using external known information. The calibration variables used were the distribution of the population by age group (18-24, 25-29, 30-34, 35-39,..., 60-64, 65-69) and gender. 
 
Nkl=Frame population in gender k and agegroup l 
 
nkl=Sample population in same gender k and agegroup l
 
Calibration factor is : Fkl=Nkl/nkl
 
The Final Weight for the Respondent is :  Rit=Dij x Ft 
 
where Ft= the calibration factor for Respondent t
 
Dij= Design Weight of the respondent in household j in stratum i

